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4. An equation of line a is y=»%x»z

Which is an equation of the line that is perpendicular to line a and passes
through the point (-4, 0)?
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1. Which information is needed to show that a parallelogram is a rectangle?
A. The diagonals bisect each other.
B. The diagonals are congruent.
C. The diagonals are congruent and perpendicular.
D. The diagonals bisect each other and are perpendicular.

Correct Answer: B

2. Which point is on a circle with a center of (3, -9) and a radius of 57
A (-6,5)
B. (-1,6)
c. (1,6
D. (6,-5)

Correct Answer: D

3. Given the points P(2, -1) and Q(-9, -6), what are the coordinates of the point on
directed line segment PQ that partitions PQ in the ratio %7
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1. Which is an equation for the circle with a center at (-2, 3) and a radius of 3?7
A X4y dx-6y+22=0
B. 2¢+2)2+3x-3y+4=0
C. X+y +ax-6y+4=0
D. 3 +3)° +4x-6y +4=0

Correct Answer: C

2. What is the center of the circle given by the equation x* + y* - 10x =11 =0?
A (5.0)
B. (0.5
c. (5,0
D. (0,-5)
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SAMPLE ITEMS
1. Joe counts 250 peach trees on 25% of the land he owns. He determined that

there are 10 trees for every 1,000 square feet of land. About how many acres of
land does Joe own?

1 acre = 43,560 square feet

A 23acres
B. 10 acres
C. 43.56 acres
D. 2,500 acres

Correct Answer: A

2. A square pyramid is packaged inside a box.

5 inches

5 inches
5 inches

The space inside the box around the pyramid is then filled with protective foam.
About how many cubic inches of foam is needed to fill the space around the
pyramid?

A. 8 cubic inches

B. 41 cubic inches

C. 83 cubic inches.

D. 125 cubic inches
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5. Parallelogram ABCD has vertices as shown.

Which equation would be used in proving that the diagonals of parallelogram
ABCD bisect each other?

A 3-17+(2-0)" =\[1-3)" +(0+4)"

B. \(3+1) +(2+0) =\[1+3)" +(0-a)

¢ flt-17+(a-0F = \[1-3] +(0+a)*

p. J(-1+1) +(a+0)" = \[1+3) +(0-4)"
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